-3
5 &

I

L

>

FIS4E [ REA R B R I 3R

NS

i S
15 g8
£ =
B o # %

mEES

ReAZES
THBHELE
THBBELE
ARREHE
181723033



EENRE SHSEERERT B MR

% [ B - BAIKTE B G B f ® % =

BRI 2,185, 521
Ehesk st 2,185, 521
AER (Hk®BR) 2,098, 050
BEKFEER R M ER AT 2,098, 050
BEKFEER =M ER AT 2,098, 050
1 ERETETE 1.00 415, 450. 00 415, 450

=
2 KR E MR E 1.00 1,014, 100. 00 1,014,100

=
3 BREMI IR 1.00 520, 000. 00 520, 000

=
4 BE 1.00 148, 500. 00 148, 500

=
EEEE 87,411
EEEE 87,411
EHAME 19, 495
5 EBARE 1.00 19, 495. 00 19, 495

=
EBHERE 67,976
6 FNRIHAE 1.00 67,976.00 67,976

=




BHSEEREATBREHRE

% g FE - ksHiE B £ fifi £ i
E R i 2,008,050 + 87, 471 2,185,521
EEAGE 2,098, 050
EERE 87, 471
Z O fth IR 2,098,050 x 53.85% ( 35% + (1 — 35%)) 1,129,799
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